*Sseecccncncsas People’s attitudes to Adifferent languages.
~a) Matching goose is o method of investigating :
b))  Matched Ruise is a method of intimidating
c) Matched guise is o method of investigating
d)  Matched quizzes is a method of investigating
3. Choose the correct sentence: 3 :
@)  The ethnic minority has been established for a | ger period of time and
\I= the majority groups are the more recent products of migration.
B)  The ethnic majority has been established for a shorter period of time and
the minority groups are the more ancient products of !mmm
&) The elastic majority hag established longer period of time and
minority groups are the more recent products of MO:A S
4d)  The ethnic majority has been established for a longer peri R
- the minority ups a%?}he more recent products %?‘m

cO _ .
4. Prejudice refers to .........toward people because of gen social
" class, age, disability, etc. . : K
¢ a) z postconceived: usually unfavorab\e,)udgmen:: ‘
preconceived, usually unfavorable, judgmen 2,
preconvinced, usually favorable, judgments O
) preconceived, usually favorable, jam and mint 4 .

% of
ho speaks or behaves in a manner that indicates a \a¢
idveeeseswWho : :
" , area,
5 sophistication. . to vegetables, usually from a rural
%; Coun Countrybuctknplnn akm:gto a person, usuatly ?0{::\2 usually from2
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7.  The style of language you use depends ON .eoeessrere
the form laity of the context and the rout of planning that was involved
xt and the manner of planning that is
s involved

mount of planning that §
unt of planting that is involved
English in schools

)
=b) the informality of the conte
] involved
c) the formality of the context and the a
the formality of the pretext and the amo
speak Standard

)
tivation for making children

8. The mo

is explicitly oo -
‘a) given as the need to communicate effectively.
b) givenas the need to use language referentially.
¢) given as the need to commutate efficiently.

~d) givenas the need to communicate mistakenly. + 7

9. The British government —in 1995 jaunched the’ ‘Better English
Campaign’, whose aim....eee P
%/a)  was to improve standards of spoken French around the country
was to improve standards of spoken English around the country
standards of spoken English around the capital
' English around the laundry

b)
«) was to disapprove
d) was to improve standards of written
10. N ows that there is 2 close relation between........
~va) the language wWe learn and our political standards 0
»b) the luggage We carry and our language standards
the language we k and our social standards
our social stan

+©)
5 d) the lasagna we eat an
11. In Britain, although many languages are in daily US€.i.eeeeesee
<& onlyEnglish has an unofficial recognition. o
only French has official recognition. A
fficial recognition. o

orman Tebbitt sh




ve away from the lingering norms of their harper
away from the ungxﬁsﬁcﬁcgms of their hearer
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29. l ht n]aln pr()l)lem \‘i“ s g > vanatnon
asuRge ! EQuating social class wi : :
= ey A With education is that
S IMpossible th: . :
e hat an individual who is middle o
d\ Cr;{gc amo N . ALIC-CSS ™M L cam nore
b) 6 i IS unt of monevy
5 c 0 : ) » . - 3
might sc )’ Possible that a student Who 1s in 2 middle-class schoo)
HEAL Score more than other students in math
c) it 1s entirely possible that an indis idual who is middle-class might not
earn more than an average amount of money ‘
d) it 1S entirely possible that a school girl who is in the third class might not

30. Labov 1962 found that the ...........

a)
b)

c)
d)

.....

earn more than an average amount of gold
higher the social class of the speakers, the more instances of post-vocalic
‘r’ they would use
lower the profession 0
would use

higher the social cl

q" they WOUld “Sfon Of the spe&keYS, the mOIe nstances ol N
atl

fthe speakers, the less instances of vocanc T the

: ___ ~F wre-vocall
ass of the listeners, he less instances Of Pre-voe

o vocall
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31. Williams and Kerswill found that the accen
Melton Keynse, and Reading).-«-=+** '
a) were converging - leveling or becoming more alike:
b) were diverging - diverse or becoming more different.
iling or becoming funmier.
i

c) were contradicting — cav
were conflicting - limiiting or
e over sixty-five age grou

d)
32. A language characteristic of th
older people may.... - -
“'@) require slightly longer processing time 10 produce and understand
complex sentences.
b) require slightly less processing time 10 produce and understand complex
v semantics. o o
~g)  require shorter processing time to produce and understand child
w  language. = - o
d) require slightly bigget bedrooms 10 produce and ufiderstand complex
’ sentences. R )
33. One of the characteristics of Child Directed Language is ... -- -
a) calling the child by name, often using a ‘pet’ name or term of endearment
o ) longer, grammatically mplex sentences o
¢) No use of questions r question tags
d well-structured langua@
ds and utterances,

&d) Speaking in a coheren
is the study of how a listener recognizes Wor
brains results in certain kind of language

34, ueececes
or how damage to our
disorders o0 e
~a) Sociolinguistics .0 o
b) PsycholinguiStics - <=

o0 oo
)

) Artificial science

d) Grammar '
35. erential use ofmgnagetallbe found in examples that ........:
ﬁ ive information or ins‘mcﬁons that the hearer wants the speaker 10 d&h«
) give wrong informati ot--inmcﬁonsthatthe does not wan!
o) to do. =)
ahts the hearer to &
_pot in poetry-
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AL covnnnne

ak in mixed-sex
ht to listen than

nterrupt women indicate thi
right than men 10 Spe

43. The extent to which men |
they had less ng

women act as if they Khave more

a)
conversations, and that men act as il
women.

b) men act as if they have less right than women 10 speak 1n mixed-sex
conversations, and thatiwomen act as if they had mote right to wnite than
men.

<) men act as if they can wrile more than women, and that women act as if
they had more money 10 buy books.

d) men act as if they have more right than women 10 speak 1n mixed-sex

as if they had less right to speak than

conversations, and that women act

men.
gives no indication of what part of the country the speaker

comes from.
Colloquial Pronunciation

a)
b) Received Pronominalisation
c) Received Pronunciation
d) Allophonic Pronunciation
ral ideas in 2 series of

45. Lacui BB rhetorical device which expresses seve

similar structures.
a) The rule of three
b) Euphemism
C) Parallelism
d) Paralysis
46. ....can be used to indicat
certain about something
a) transitive verbs
b) intransitive verbs
c) phrasal verbs
d) none of the above
t of Dominance
less victims’ an

e that you don’t want to sound completely

Theory is that it represents ...
d shows men as axcluding and

47. One main weak poin
excluding and

a) women as ‘power
demeaning women.
b) menas ‘powerless victims’ and shows women as
demeaning women.
¢) women as ‘powerfu
women.

d) women

shows men as JookKing highly at

 victims’ and
s them as SOmmitting SIns.

as « cowardice. venom and show
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48. g&bose the correct yop toniD
ic s, —
.- culture, Aoty refErs 1o a Eroup which has a sééially dominant
- b) An ethnic minorite w e 0
: . culture, ~ s mfcp 10 a group which has a socially dominant
<)  An ethnic

| . minority refers to a group which has a politically dominant

A o oty oy o4 o i damsnere s
- dominant culture. fers to a group which does “°‘_§“V° s

‘> &
Y 4

49. Choose the correct sentence:
@)  Sexist language represents women and men equally, as if numbers of
= one sex were somehow less completely humid, or can write more than

-

- members of the other sex.
~¢-b)  Saxon language represents women and men untidily, as if members of
one six were somehow less committedly human, or had fewer rats than 1C
remember number six. s .
~ st language represents women's and men’s VOLCeS uneq y
yne musical instrument were not loud enough.
epresents women and men unequally, as if members ¢

less completely human, or had fewer rights th

......

e ' within a sentence !
.._ggm embedded .
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a) ('; Actugy) \ el dea
b) Mpetene ““R\lnge \
C) [npﬂﬂsun . h““‘ ‘Deuh and
d) angue 7
38. Chooac :)lnc Of the above
a) e COrrect sente
Ihc tcrl‘] ‘e e nee
signific sgnifier' refers X
b) The t 2. sl Mmeaning of cong
‘ : ¢ crm .si Y : el ¥ 'W\ 3\1‘()(\" d
; S‘,g“irlcr, gnified refers 1o the meaning or ¢ R
C) The term *lan ; T concem associated with
parole BUE" refers to the mean: :
d | Saning or conce R 3 "
N cdges’ refers 10 1 :
signifier, ¢ meaning or con,
39 o COPL associated with the
. ccording to the Sapir-Wh
a) Causal link between ag(:-: “‘ypo\hesn. thereisa.........
b) causative sink between h ulture and \anguage.
c) causati N hose and router
ive link between \
d N L Culture and language
O Causative lings before |
re lecture and luggage
40. Choose the correct sentence:
a) Langua imi 3 Sl
h'g[\: ges of smul.ar cu\tx}rcs Involve similar systems of representation
which are necessarily equivalent
b) La.nguages of different structures involve similar systems of grammar
which are necessarily equivalent
¢) Luggage of different passengers involve parallel systems of
representation which are necessarily equivalent ,
d) Languages of different cultures involve distinct systems of representation

which are not necessarily equivalent.

41. The most common stereotype about women’s speech is that ......

a) mentalka lot .
b) women talk a little s
¢) women talk a }ot 3 )
d) women talk quickly .
rms wWhiCh sovvsnnsee
i Marked . O and this deviation 1s not sxgt\a\ec\ by any car

a)
b)

c)

<o/

. d)

deviates from the hor gnaled by additional

: and
disdain from the form E i
amount of mongg = and this & :ation iS signaled by 2 0o
deﬁw. < signaled DY
information - and fhis debate s sign

debates
information

this distention 18 S

additional

-
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20. Languages can be lost because ......

a) spcake . k . .
speakers may choose 10 shift from one language 1O another as social

conditions change

b) people may learn another language espec jally English
c) .( ne language may be studied as a course at school or unv ersity
d) Speakers use their languages frequently
7 T » 2 ¢ WL » . ’ . 2 2 3
21. The dialect known as Standard English has special status because it is.
a) the dialect of governmental and legal institutions and the dialect of
literacy and education
b) the dialect that is never used in education.
c) the worst and lowest form of English.

d) the language of Arabs
is not allowed

22. In Standard American English, a sentence like
because of the multiple negation it has

a) [ didn’t eat anything.
b) She didn’t understand the question.
c) She didn’t see nothing.

d) they did nothing last week.
23. The most obvious difference in the way people speakis in their

oooooo

a) accent and dialect
b) social class and education.
C) all the above

d) none of the above

24. Choose the correct sentence:
a) Names cause no proclaims, panicularly if they do

confection of a community.
b) Names cause problems, if th

community.
C) Names cause problems, if they don

conventions of the world
d) Names can cause problems, particu
conventions of a community.

d the rules of the systems of addr

n’t fit in with the
ey fit in with the conventions of a
't fit in with the universal

larly if they don’t fit in with the

ess can lead to some fo

25. To disregar

1) P
a) approval or can be interpreted as a €O

b) disproval or cannot be interpreted as an insult

C) disappr
d) disestablishment Or can be interpreted as

mplement

oval or can be interpreted as an insult
an implant




